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& Freadr8HEE A

8 \tidyverse

library(tidyverse)

AY

o read_csv() ENIZHE0FE

e read_tsv() ENMIFLF G

e read_delim() FEEU(L TS IR HY S
BENEE

taitung_county <- read_csv("data/taitung_county.csv")
FENEEL

write_csv(taitung_county, "taitung_county_2.csv'")
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& Freadr8HEE A

EHUREE Y, W @E, & B R

select_columns <- read_csv("data/taitung_county.csv",
col_select = C("E%E", llﬂzll’ ml?%”n))
show_col_types = FALSE)

ZERINE

head(select_columns, n = 5)
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o Gt %S (Mutating Joins)
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RERFEN

AR UL

library(tidyverse)
taitung_county <- read_csv("data/taitung_county.csv",
show_col_types = FALSE)

¥t Key

taitung_county %>%
count(GE8) %>%
filter(n > 10) %>%
head (n=5)
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R 17
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fEH dplyr RERIRER

M A B

library(tidyverse)
taitung_county %>%
rename (menber = EE,
money = 'EZEEE (BN: Fm) °,
year = I,
district = "EE(95-100%F) ") %>%
group_by(year) %>%
mutate(sum_money = sum(money)) %>%
dplyr::select(year, sum_money) %>%
dplyr::distinct(year, .keep_all = TRUE)

#> # A tibble: 6 x 2
#> # Groups: year [6]

#> year sum_money
#> <dbl> <dbl>
#> 1 95 15414

#> 2 96 28400.
#> 3 97 47599.
#> 4 98 456175.
#> 5 99 233657.
#> 6 100 278316.
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RERFEN

library(tidyverse)
member <- taitung_county %>%
rename (menber = &S,
money = ‘EZEER(EN: Fm),
year = 4,
district = "ERE(95-100TF) ) %>%
group_by (menber) %>%
mutate(sum_money = sum(money)) %>%
dplyr::select(menber, sum_money) %>%
dplyr::distinct(menber, .keep_all = TRUE)
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fEH dplyr RERIRER

A Rk

member %>%
ggplot(aes(x= reorder (menber, sum_money), y=sum_money)) +
geom_bar (stat = "didentity") +
theme (text = element_text(family "STHeiti")) +
theme(axis.text.x = element_text(angle = 90, vjust = 0.5, hjust=1)) +
coord_flip() +
xLab ("XXXXXX") +
ylab ("YYYYYY")
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https://raw.githack.com/davidycliao/indigenous-data-scientists/main/Week-03/data/TIGCR-TGBS2019/Chinese/Panel%20and%20new%20samples/TIGCR-TGBS2019_CH_Questionnaire.pdf

